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SA: DEHFD
Hu: NS N Y DEIN =Y
ool HEnS245

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 D282 =8 20,0008 * 53 * 40 4,000
207 RO ] 110,000 50,000 60,000
01 A3 39| 110,000 50,000 60,000
O 8Eicd nesg A Y
15,000,000& * 23] 30,000
O AILHHA DEEY TA Y
20,000,000& * 14 20,000
O HAZYS S H4+ALd HHS S 8
60,000,000& * 14l 60,000
301 et a = 2,240 2,800 A 560
09 AL HIZ &S 2,240 2,800 A 560
O wEEAM & AFDS0|D| A 28X S A
3 7,000& * 80Y « 43 2,240
307 glz2+ol & 2,789,407 3,539,875 AT750,468
02 It A AMHEE 5,000 5,000 0
O (Ah)=M00LIE Z2EAHES 25 X
2,500,000& * 14 2,500
0O 28E2ddgs 3=22d8 s g5 N
2,500,000& * 14 2,500
09 2+HAHEEXS 2,784,407 3,534,875 AT750,468
O uWESHE 0I8N 23 &2 428z
160,000,000& = 42 2| 640,000
O Al A s gel 223
260,000,000& = 43| 1,040,000
0 SOHEHA HSod a2z
1,000,000,000& * 14l 1,000,000
O 8AE =25 X&
18,500& * 2.50/100 » 3652 * 500CH 84,407
O ALHHA &KX XS AL 22| R Kb
20,000,000& =« 14l 20,000
Hled &4843 1,176,204 1,305,984 A 129,780
S 64,146
Al 1,112,058
307 glz2+ol & 1,176,204 1,305,984 A 129,780
= 64,146
Al 1,112,058
09 2HAHAEXS 1,176,204 1,305,984 A 129,780
O 8sd 4843
1,176,204,000& * 14 1,176,204
< 64,146
Al 1,112,058
MUHESHEHA2SASHER R 783,362 757,732 25,630
= 391,681
Al 391,681
307 glz2tol & 783,362 757,732 25,630




SN RSP
B DE X U DEIN HY
e HsznseEdst (&t
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 391,681
Al 391,681
09 2LHHEXZ 783,362 757,732 25,630
0 AUHYsSHEHASSAIY HEXKZ2
783,362,000 = 14! 783,362
& 391,681
Al 391,681
BHEZSEHAIANSE X 80,000 0 80,000
= 32,000
Al 48,000
307 2iz2tol & 80,000 0 80,000
= 32,000
Al 48,000
09 2L HEXZ 80,000 0 80,000
[J] BYCEA “SHU(2) DHXS
400,000€ * 200CH 80,000
= 32,000
Al 48,000
DHSESAAZ22HS 10,800 10,800 0
& 1,260
Al 9,540
301 LBt A= 10,800 10,800 0
== 1,260
Al 9,540
06 212to1 =22 (4 Hl 10,800 10,800 0
[ DEHSESAI 223
3,600,000& = 3H 10,800
& 1,260
Al 9,540
SIHEEXZ AH 5,691,746 5,691,746 0
307 2Iz2t0| & 5,691,746 5,691,746 0
09 2L AHEXZ2 5,691,746 5,691,746 0
O |ItEXx2 Jd 5,691,746
O HA 380.09& = 700H = 3,0004 = 12&€ 957,827
O EHAI(IHQ, "&ol)
197.97& = 50004 * 800¢4 = 128 950,256
O st=Xxt
345 .54& * 73004 *~ 1,2504 =« 12& 3,783,663
SHATA O8I AR HEHIE XA 35,380 500,000 AN 464,620
o= 17,690
Al 17,690
307 212t0| & 35,380 500,000 AN464,620
= 17,690
Al 17,690
02 QI2tAMAIE E X 35,380 500,000 AN 464,620
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SN RSP
M DS OFM L DSEA
S Hsnseds (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ol™II2 kTXol 823 X
35,380,000& * 14 35,380
= 17,690
Al 17,690
SgussH 29 273,348 242,000 31,348
307 gl2tol & 273,348 242,000 31,348
05 BIZHRIE 3 273,348 242,000 31,348
[ SERSH(DEAX SUA) 29|
3,254,140 » 704 » 128 273,348
HAHA SAEX 1,000,000 900,000 100,000
= 500,000
< 150,000
Al 350,000
307 21201 A 1,000,000 900,000 100,000
= 500,000
< 150,000
Al 350,000
09 2HAHAEXES 1,000,000 900,000 100,000
O NSANE 9IS MHaHA 2L
100,000,000& * 10CH 1,000,000
= 500,000
< 150,000
Al 350,000
HAFBAIAE(BIS) 29 379,822 0 379,822
201 Let24d] 97,382 0 97,382
02 232gHl 97,382 0 97,382
03322 2 dA 50,014
O HAZSBAAE(BIS) 3FE L]
&I & SAAE234,6003 « 7901 « 123 32,801
O HAZBAIAE(BIS) MHEEHLI| SHAS
=3 17,6003 = 6904 = 123 14,573
O HAZBAIAE(BIS) ME3H AR
220,000& =123 2,640
O A€ EHI s Xl 47,368
O HAZZHWI| =8 E KA/
3,000,000& = 34 9,000
O HAHZI =& & R 22|
200,000& * 104! 2,000
O HAZEAIAE(BIS) 2A22ly] 36,368
S8oz0Y
(220,924,110 * 1A = 12%) » 4/12 8,837
AEALATEYN
(102,542,000 * 1A = 12%) * 4/12 4,102
HEHH(FF AU
(591,718,628 * 1Al * 8%) * 4/12 15,780




- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
AN &bl
(176,144,562 = 1Al = 8%) = 4/12 4,698
HE 3 &H|
(40,896,973 = 1Al * 8%) % 4/12 1,091
HOotAH (Eate)
(46,481,434 = 1Al % 12%) % 4/12 1,860
207 A SO0 | 2,440 2,440
02 & AHJY EH| 2,440 2,440
(] HIOIHA ollgtenal 202 A (M)
440,000€ = 54 2,200
(] HIOIHA olgheial T2 RA(PCR)
40,000 * 64 240
401 AIEHIZL 201 Y| 280,000 280,000
01 Al&H| 280,000 280,000
[0 HAEES S| (BIT) &XI
14,000,000& * 2000 & 280,000
S ASxEUI0H 2HA X 12,000 12,000
= 3,600
Al 8,400
307 212t0| ™ 12,000 12,000
= 3,600
Al 8,400
09 2L AHEXZ2 12,000 12,000
O stSsAsi 29t et X XN
150,000& * 80CH 12,000
o= 3,600
Al 8,400
EHAISSH A E 22| Al AEl 31,000 31,000
=} 6,600
Al 24,400
308 MXISHMSOIA 31,000 31,000
= 6,600
Al 24,400
10 BI| 2 SH st A A et A 31,000 31,000
O gASBI2ANAY 715
31,000,000 = 14! 31,000
o= 6,600
Al 24,400
MAHA 2HH X 45,000 45,000
o=} 13,500
Al 31,500
307 QI2t0| ™ 45,000 45,000
& 13,500
Al 31,500
09 2LHAHEXS 45,000 45,000
O MAHA 29H X 5,000,000& = 9CH 45,000
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SN RSP
M DS OFM L DSEA
e HsznseEdst (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 13,500
Al 31,500
AMNUsHEHA WH X K& 255,000 0 255,000
== 57,800
Al 197,200
307 2Iz2t0| A 255,000 0 255,000
= 57,800
Al 197,200
09 2LHAHEXZ2 255,000 0 255,000
0 AUHsHEHA HHXAS
15,000,000& = 17CH 255,000
& 57,800
Al 197,200
WSAEZ2 A 1,928,360 1,778,699 149,661
WEANEESEH & SANES 1,928,360 1,778,699 149,661
201 et d| 166,240 125,300 40,940
01 AFR 2t 2| bl 12,000 12,000 0
[0 Lbt=S=H| 12,000
O WEod =222 HH
2,000& = 5= * 1,0007H 10,000
O REPNY B2 4 MEF
100,000& = 5JH * 43| 2,000
02 Z2=2=24%4| 154,240 108,000 46,240
02222 < HAl 154,240
O WE NssS &8Il 12,000,000 * 12&€ 144,000
O O)IsSHxs&dH OOlH sldAIE2
30,000 * 404 ~ 12&€ 1,440
O OIsSs3EH HEI1E A
2,200,000 = 404 =13l 8,800
207 SO0 2 50,000 70,000 A 20,000
01 | 50,000 70,000 A 20,000
0 RENS 2N L AE3 B
50,000,000 * 14! 50,000
401 AlEHIZL 201 Y| 1,712,120 1,581,999 130, 121
01 Al&H| 1,706,000 1,575,000 131,000
O HASYH &3 2 Meis 22% oA
10,000,000& = 2500 & 250,000
[0 nSEHAAAL X & HH|
200,000,000& = 1A 200,000
[0 WEAS) E&XNZBAHcsEF L HHANS
Jl AA) 20,000,000& *5J0 A 100,000
[0 3EE AXZA 5,000,000& * 502 25,000
O wsSas MOl WA Z2A
6,000,000& = 10902 60,000
[0 NS M (A 10,000,000& = 40km 400,000
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5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol &F o4 %@ﬁ 2t
O XA (=24) 5,000,000& = 30km 150,000
O Mty AHS(seh) AEZ2A
2,000,000 = 10902 20,000
O UEEXo(ezy) 4X
2,000,000 * 7602 152,000
O UEEXEH(Yers) &AX
48,000,000& * 14 48,000
[0 WSoMAIE Ao JtZ22AH &l
40,000,000& * 23] 80,000
O WEAsI K8 40,000,000 * 23| 80,000
O S8sd3s) S8 20,000,000 * 13| 20,000
O XNEEAM BIAIE s 2AF =&
600,000 = 103l 6,000
O unsZE A2 40,000,000& * 23| 80,000
O NS, 388 &) N8 EA
35,000,000& = 14! 35,000
03 Al 201 Y| 6,120 6,999 A 879
0 nsSA&E=2 &4l
1,700,000,000& = 0.36/100 6,120
SAo oY FA 53,350 44,150 9,200
SEX SEN BA 53,350 44,150 9,200
201 et 9| 42,950 40,950 2,000
01 AP 2t 2] d| 14,400 14,800 A 400
[0 bt==H| 10,550
O Xsx 2218 et MElg 28 XA
S0l 100,000 * g2+ A 600
O XAsX 228 ALt NEelE S5 & K0
100,000 * g2+ A 600
O Xsx 228 AL BEelE 20 WM
100,000 * g4 600
O sx 885 89
100 * 10,00000 = 5= 5,000
O XNsX HIIHAM etUHE Kol
100,000 * p2+A 600
O #HHEARID A2 2L
350,000 * 3CH * 33| 3,150
[0 =&l 3,850
O HYS=E g2z
7,0008 * 5% x 110¥ 3,850
02 B232%H| 28,550 26,150 2,400
[0 2222 2 HA 26,150
O XsSx ZACHH *EZ
300& * 20,0004 6,000
O AsX 2218 AL WElE DA s
LE= 1,930& = 5,000 9,650
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